Easy Wood Plans

www.easywoodplans.com

NOTICE

"The purchaser agrees when
purchasing this plan (the “Plan”):

1) the purchaser has acquired the
ight to build or construct the

abject or project set out in the Plan
(the "Project”) for his/her/its
personal use only and not for

any commercial use,

2)" reproduction of the Plan in whole
or in part by any means whatsoever is
strictly prohibited.

UW Blueprints For The Handyman

shall not be liable for any willful
misuse or nagligent use of this plan,
the Project or any tools used to
construct the Project or for any
loss or damage resulting therefrom.”

#7B, 2316-27Ave N.E.
Calgary, Alberta
Canada, T2E 7A7

NOTE: Read all directi

before beginni:
Carpenters Glue should be use

Dimensions in brackets denote millimeters

Directions

)

2)

3)

4)

5)

Lay out your material on the workbench, or on sawhorses, as outlined in
the suggested materi layout (Fig. 1). Draw out all parts exactly as
illustrated, in cutting diogram (Fig. 2), including the letter
designations, in pencil. Ensure to leave a small space between cut
lines to allow for the width of the saw. Before cutting, double check
all measurements to ensure they are correct. Aways cut on the waste
side of the line. When cutting across the grain tape the edges with
masking tape or clamp on 1/8" material to avoid splintering. The
notches can be cut with either a jigsaw, or tablesaw, or handsaw and
chisel. Dry fit all notches to ensure a snug fit before gluing. Wipe

off any excess glue at each stage of the project.

Pre—drill pieces S with three 1/8" holes each, glue, and attach to

piece J with six 1 1/4” #6 flathead screws as shown (Fig 3). Pre—dril
the pieces S again with two holes each, glue, and attach to pieces G
and H with four 1 1/4" #6 flathead screws as shown (Fig 4). Attach
drawer pull to G centering on G 1 1/8" from top. Countersink screws to
allow flush fit of H to G. Glue and nail piece U to H and G with

i g nails. Glue and nail piece V onto pieces H and U with
ishing nails. Set this drawer aside making sure G is square
H while glue is setting.

Predrill pieces P with five holes each, and glue and screw to piece A
with ten 1 1/4” #6 flathead screws as shown (Fig 5).

Pre—drill pieces O and R with five holes each, pieces Q and M with
eight holes each as shown (Fig 6). Note that the supports on B and C
are slightly different. (There is no piece Q on the drawer side

(right) ‘and there is no piece M on the left side). Glue and screw
these pieces onto pieces B and C with thirty six 1 1/4” #6 flathead
screws.

Glue and attach pieces B and C to piece A with ten 1 1/2" finishing
nails, five each side.

OVER

21 1/2" 12" 48"

D ~——GRAN ——=

~=—— GRAIN

G H

One sheet 3/4" plywood

L M N

8ft length

T U

[o]

Q

—_——

nw o/ mw S

ne sheet 3/4" plywood

One

o]
_1 x4

One

1
L L
™

1x6

8ft length w x

MATERIAL LAYOUT

12"

(305 )

s H
2"(51)

FIGURE 1

(57)

48"

10"
(254)

DRAWER SIDE VIEW

3/4°019) o1 1707

(546 )

—
V-

1172
(38)

(711)

H
12"x12"x3/4"
diagonal brace
G

FIGURE 3

23 1/4"
(591 )

|13 1/2°
(343)

0
QN

(1219)

38 1/4"
(972)
28 1/4"

(718 )

12 3/4
(324 )

DRAWER INSIDE VIEW
FIGURE 4

7 3/4"|2 1/4"
(197)

Sp

“p

CUTTING DIAGRAM
FIGURE 2

3/4°(19)

(546 ) Auouv_

(1219 )

3/4"

12"
( 305 )
x

9 1/2"
(241)
m

(19)

L (305)
12"

3/4°(19 L

22 1/2" 22 1/2" 21 3/4"

14 1/4"
(362 )

12 1/2"

(552 )
3/4"(19 N

(572) (572)

3/4"(19 M

(318 )
3/4(19

45" cut

3/4°(19 P

48" 21 3/4

10 1/4" 10

(552 )
3/4°(19 Q

(1219 )

3/4°(19)

(260 ) ( 254
R 3/4"(19) s

48" 21 1/2"

12 3/4"

(1219 ) ( 546 )

(324 )
v

11/2%(38) T

11/2" u
1

11/2°
) ¢

(38)

(38)

48"

END SUPPORTS
FIGURE 6

(1219)

23"
(584 )

~0

9 1/2° M
(241

9 1/2 |2 1/4%(57)

(241))

left side

30 1/2"
(775 )

“R

[

right (drawer) side

GABLE SUPPORTS

FIGURE

38 1/4"

6

38 1/4"

(972)
30 1/4"
(768 )

23"
( 584 )
>

24"
(610 )

48"

(972)
30 1/4"
(768 )

(1219 )

48"

(1219)

22 1/2"
(572)

14 1/4"
(362 )

12 3/4"

w

o

11/2"
L

4" (19)

3/4"(19)

(38)

48"

(1219 )

o

4"(19)

3/4"(19)

21/2° X
Il

(64)

22 1/2"

(572)

COMPUTER DESK - Project

#709

MATERIALS LIST

* Two 4'x8°x3/4" sheets plywood, G2S (ACA)

* One 1°x4"x8' Mu\ﬁ. x ul._\m..xm.w hardwood

* One 17°x6"x8" (3/4" x 5—1/2"x8") hardwood

* Approx. seventy five 1—1/4" #6 flathead screws
* One 2" #6 flathead screw

* Approx. 1/2 Ib. 1—1/2" Finishing nails

* Approx. 1/2 Ib. 1—1/4" Finishing nails

MATERIALS LIST

* Sandpaper

* 32' edge tape

* Stain, varnish, or oil
* Woodfiller

* Carpenters glue

*

Drawer pull and hardware

ToOLS

Tablesaw

1/8" and countersink drill bit
Power or hand drill

Hammer

Sanding Block

TOOLS

* Screwdriver

* Nail set

* Jigsaw or hand saw and chisel
* Pencil and measuring tape

* Putty knife




